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Brown’s syndrome 

 

What is Brown’s syndrome? 
Brown syndrome means that one eye cannot move upwards properly particularly when 
looking up and towards the nose. 

What causes Brown’s syndrome? 
There are six muscles for each eye which allow us to turn the eye in all the directions we 
want to look. In Brown’s syndrome, one of the muscles may be too short to turn the eye 
fully or the muscle may become “stuck” therefore stopping the eye from moving properly. 

The affected muscle is called the ‘superior oblique’. The superior oblique passes through a 
ring of cartilage called the ‘trochlea’ which acts as a natural ‘pulley’ system in helping the 
eye to move. In Brown’s syndrome, there is a defect to the trochlea or to the muscle itself. 
The muscle becomes stuck when it does not run smoothly through the trochlea leading the 
eye to stop moving. 

It is usually congenital, present from birth but can also occur as a result of trauma or 
inflammation. 

What are the symptoms? 
For most people, Brown’s syndrome does not cause any problem with their eyesight. 
Looking straight ahead or downwards, the eyes usually work together properly as pair with 
3D vision. When looking upwards some people may notice double vision (seeing two of 
things) some of the time. You may lift your chin slightly to compensate for this, most 
people are unaware they do this. 

How is it diagnosed? 
It is diagnosed by referral to an orthoptist by your GP, health visitor, school nurse or optician. 

How is it treated?  
The majority of people with Brown’s syndrome require no treatment. Most people have 
straight eyes, good vision and no symptoms therefore there is no need to intervene. 
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Sometimes glasses are needed but Brown’s s


